


Big Bang Nucleosynthesis - Helium

Step 0: Step 2:
Equilibrium Step 1: Neutron Decay Step 3:
l Neutron Freeze-Out Helium Fusion
| |
1 = \1, | Irrr 11 1 | | | 1 \Z 1T 1 | =

- 1 =
o 107! - [ He |
O — =
- — =
< - —
= _ —_
-
= . —
> -2
< 1077 E =
T@ — —
= — -
@) — —
= . —
2
= 0 E E

— eq —

— 2X) -

— equilibrium —

107 E
=l I | Lot 11 | L1l
1 0.1

Temperature [MeV]

Figure 3.9: Numerical results for helium production in the early universe.
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Big Bang Nucleosynthesis - light elements
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Figure 3.11: Numerical results for the evolution of light element abundances.



Big Bang Nucleosynthesis -
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Figure 3.10: Theoretical predictions (colored bands) and observational constraints (grey bands).



a /ﬂw#:

f .




10t

102

Recombination

T [eV]

recombination 0.1

decoupling

> CMB

Boltzmann

\/I | IIIIII|

Figure 3.8: Free electron fraction as a function of redshift.
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